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FEFRRK 62 94 156 | iy - 2 2
FEBER/IIK 62 78 140 | 5y 3 7 10
FEBHBEX 59 68 127 | SR - 2 2
FEFHEX 34 81 115 | FERERE 3 11 14
TEDRX 35 42 77
FEFEEX 105 116 221 | A th R 6 5 11
FESa 357 479 836 | Z LAY 1 4 5
%7 10 26 36 | KA 7 4 11
ol 246 270 516 | LREBE 14 13 27
atE ™ 243 337 580
ELH 7 12 19 | —E=Hy 1 4 5
REET 29 38 67 | BERET 1 2 3
WA 224 241 465 | R 3 5 8
BHH 30 47 77| BT 1 4 5
RS 19 23 42 | RiFAT 1 2 3
P 43 54 97 | Krafly 1 1 2
ERS 53 104 157 | R 8 18 26
RE™ 5 15 20
18 6 12 18 | K% EH 2 - 2
BEHD 75 94 169 | #78EY 1 5 6
am 173 232 405 | EFBERE 3 5 8
Bm 2 10 12
HIR® 67 76 143 | $ER Ay 1 3 4
Fl 82 100 182 | REAB: 1 3 4
NFRH 84 98 182 | B4 3t 38 68 106
REFH 51 89 140
81| 7 13 20 | B3t | 2,203 2,879 5,082
L Z 39 47 86
BED 12 18 30 | RABTH LKA 226 278 504
=Em 6 13 19 | Kb B 2K 5t 146 176 322
S 128 117 245 | RABTHIK A 102 118 220
TETES 25 40 65 | RAbTHAK A 212 254 466
AT 9 11 20 | RF#BTHLK A 302 298 600
I\ 5 12 17 | Kb E6X 5T 224 241 465
ENFE 35 38 73 | RABH TR A 112 147 259
BFH 25 31 56 | SRk HOK At 173 232 405
=2 19 20 39 | RABTHIK A 117 237 354
Ffe M 10 22 32 | FKEBTBI0XE 76 139 215
B 4 7 11 | KB 11K 76 120 196
HEH 10 29 39 | RAbTH 12K 5 81 130 211
LR 8 9 17 | Kb B 13X 5 178 243 421
WF Hih 2 13 15 | kB 14K 5T 178 266 444
AREEH 15 14 29 | H)IIHAK 72 89 161
&t 2,165 2,811 4,976 | )IIH5K 174 181 355
e 4K 140 165 305
B4 FE] 4 10 14 | MEH14X 103 172 275
SR 5 8 13
ENsEERET 9 18 27




